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982-1.
Which is NOT true?

a) Alveolar Pco2 is inversely related to alveolar ventilation.

b) The ventilator response to CO2 is flat until Pco2 reaches about 60 mmHg.

c) If alveolar ventilation doubles Pco2 is reduced by one-half, other things being equal.

d) Pco2 levels are normally tightly regulated and vary only a few mmHg from a normal value of 



approximately 40 mmHg.

e) None of the above

982-Which is NOT true?

a) A high Pco2 results in stimulation of the carotid bodies.

b) A low Po2 stimulates the carotid bodies.

c) Non CO2 acids, i.e., metabolic acidosis, cause stimulation of the carotid bodies.

d) A high Pco2 results in stimulation of the central chemoreceptors.

e) None of the above

982-3
Which is NOT true?

a) The internal intercostal muscles are inspiratory muscles.

b) The extrathoracic airway is innervated by cranial nerve VII, among others.

c) The dorsal respiratory group is in the region of tractus solitarius

d) Nuclei of tractus solitarius receive input from the peripheral chemoreceptors.

e) None of the above.

982-4
Which is NOT true?

a) Cardiac output and NOT the lung is the limiting factor in exercise in the normal subject.

b) The A-a gradient increases in exercise.

c) Alveolar Pco2 decreases in extreme exercise.

d) The blood-gas picture in extreme exercise is one of compensated metabolic acidosis.

e) None of the above.

982-5
Which is NOT true?

a) The extrathoracic airways are dilated by negative intrapleural pressures.

b) The oropharynx is subjected to collapsing forces during inspiration.

c) Nucleus ambiguus contains motoneurons for many extrathoracic airway muscles.

d) The uninnervated larynx allows expiration but not inspiration.

e) None of the above.

982-6. Two samples of blood are to be compared.  Sample A has 10 gms Hb/dl and sample B has 20 gms 



Hb/dl.  The Po2 is 100 mmHg in sample A and 27 mmHg in sample B.

a) The O2 content of sample A is higher than sample B

b) The O2 content of sample A is less than sample B

c) The O2 content  is approximately the same in both samples.

982-7.
If, at altitude the barometric pressure is 200, what is the Po2 of inspired air?

a) 42

b) 38

c) 34

d) 32

e) 30

982-If at altitude the barometric pressure is 200 and the subject’s Pco2 is 30 what is his/her alveolar Po2? Assume that the respiratory exchange ratio is 1.

a) between 50 and 40 mmHg

b) between 40 and 30 mmHg

c) between 30 and 20 mmHg

d) between 20 and 10 mmHg

e) less than 10 mmHg

982-9
Which is NOT true?   .

a) 
V/Q inequalities are reduced during exercise..

b) 

Polycythemia occurs on chronic exposure to high altitudes.

1 Pulmonary hypertension can occur at altitude

c) 
Transient times in the pulmonary capillaries are too short during heavy exercise in the normal 




subject.

d) 
None of the above.

982-10.
Which is NOT true?

a) The medulla is essential for breathing.

b) The Hering-Breuer reflex is an inhibition of inspiration in response to lung inflation.

c) The vagus nerve innervates the carotid bodies.

d) The phrenic nerve arises from C3-C5.

e) None of the above.

11. 982-Which is NOT true?

l) Obstruction of the extrathoracic airway is a cause of sleep apnea.

m) Nasal obstruction increases collapsing forces on the pharynx.

n) The extrathoracic airways are made rigid and dilate during inspiration.

o) Diaphragmatic descent can be impeded by abdominal masses.

p) None of the above.

982-12
Oxygen content can be determined from the Po2 of a blood gas sample.

a) True

b) False

982-13
At a lung volume above the resting volume of the chest wall,

a) The lung is helping to inflate the chest.

b) The chest is helping to inflate the lung.

c) The chest has no effect on the inflation of the lung.

d) The chest is hindering inflation of the lung.

e) The lung has no effect on the recoil of the chest.

982-14
A new patient is admitted to the ICU.  He has a reduced tidal volume.  Phrenic nerve studies are normal.  Diaphragmatic studies are normal (normal muscle strength).  The reduced tidal volume may arise as a consequence of:

a) impaired surfactant production

b) reduced lung compliance (stiff lungs)

c) reduced chest wall compliance

d) all of the above

982-15.
A patient with pulmonary edema (fluid in interstitial and alveolar spaces) has increased minute ventilation, reflecting increased respiratory drive from the CNS.  The afferent information to the CNS probably comes from:

a) the change in hydrostatic gradients in the thorax

b) J receptors from the lung

c) the carotids bodies (Po2 is 80 in this case)

d) the medullary chemoreceptors (the Pco2 is 35 in this case)

982-16
In a pneumothorax,

a) The lung is helping to inflate the chest.

b) The chest is helping to inflate the lung.

c) The chest has no effect on the inflation of the lung.

d) The chest is hindering inflation of the lung.

982-17.
If the tidal volume (VT) is 600 ml, the respiratory rate is 12, and the VD/VT is 0.33, the alveolar ventilation is:

a) 2400 ml/min

b) 3600 ml/min

c) 4800 ml/min

d) 6000 ml/min

18. 982-A patient’s blood gas analysis reveals he has a low pH, a normal Pco2 and a negative BE.  This patient has 

s) Uncompensated respiratory acidosis.

t) Uncompensated respiratory alkalosis

u) Combined metabolic and respiratory acidosis.

v) Compensated respiratory acidosis.

w) 
Uncompensated metabolic acidosis.

982-19.
Physicians frequently use spirometry to manage patients with respiratory disease.  Which measurements are obtained during a forced expiratory maneuver?

a) TLC, RV

b) FRC

c) 
FVC, FEV1
d) diffusion capacity

982-20.
Consider a patient with significant bronchial disease (for example asthma).  Lung mechanic measurements should demonstrate:

a) a reduction in expiratory flow and a reduction in airway resistance

b) 
a reduction in expiratory flow and an increase in airway resistance

c) an increase in expiratory flow and a reduction in airway resistance

d) an increase in expiratory flow and an increase in airway resistance

982-21.
If a patient has wheezing, then we can conclude that his airways are probably abnormal.  With


 very sophisticated equipment we might demonstrate:

a) airways are always open and resistance in that segment is low

b) airways are always open and resistance in that segment is high

c) 
airways are vibrating between an open and shut position and the resistance in that segment is high

d) the airways are vibrating between an open and shut position and the resistance in that segment is low

22. 982-A patient’s blood gas analysis reveals he has a high pH, a low Pco2 and a positive BE.  This patient has

w) Uncompensated respiratory acidosis.

x) Uncompensated respiratory alkalosis.

y) Compensated respiratory acidosis.

z) Uncompensated metabolic acidosis.

aa) 
Combined metabolic and respiratory alkalosis.

982-23.
Clinicians should be careful with maneuvers that increase serum pH in patients whose serum calcium is low because (select the BEST answer):

a) increased serum pH increases the amount of calcium filtered into the kidney

b) 
increased serum pH decreases serum ionized calcium concentration

c) increased serum pH decreases serum albumin concentration, thereby decreasing 
total serum calcium concentration

d) increased serum pH decreases dietary calcium intake

e) increased serum pH decreases vitamin D absorption

982-24.
A drug that increases cytoplasmic calcium concentration might do so by (select the BEST

 answer):

a) decreasing plasma membrane permeability

b) stimulating activity of plasma membrane transporters that extrude calcium from 
the cell

c) 
increasing “openess” of cell membrane calcium channels

d) stimulating activity of intracellular organelles that sequester calcium

e) decreasing intracellular electronegativity


982-25.
Which of the following laboratory findings would be MOST supportive of chronic increase in the serum level of parathyroid hormone (PTH)?

a) decreased 1-hydroxylation of 25-hydroxy vitamin D

b) decreased calcium reabsorption by the renal distal tubule

c) reduced bone calcium reabsorption

d) decreased intestinal calcium absorption

e) 
hypercalcemia (high plasma calcium concentration)

982-26.
An experimental drug you are studying increases renal magnesium excretion.  Which of the following drug effects BEST explains this phenomenon?

a) decreased GFR

b) hyperparathyroidism (excessive secretion of parathyroid hormone)

c) reduce magnesium reabsorption in the renal proximal tubule

d) 
reduce magnesium reabsorption in the renal thick ascending limb of Henle’s loop

e) reduce magnesium reabsorption in the renal distal tubule

982-27.
A patient referred to you has developed micturation problems after beginning a newly prescribed drug.  Which of the following drug-induced effects BEST explains your patient’s problems?

a) 
reduced activity of the parasympathetic nervous system

b) reduced activity of the sympathetic nervous system

c) reduced activity of the renin-angiotensin-aldosterone system

d) reduced activity of the central nervous system

e) reduced GFR

982-28.
A patient at risk for renal failure has an unremarkable history and a normal physical exam.  To


 assure the patient and his referring physician that his kidney function is normal, the next BEST step


 is:

a) return him to his referring physician with reassurance only

b) have the patient return in 6 months for repeat history and physical exam

c) obtain a complete blood count and if not anemic, reassure patient and referring physician

d) 
get serum chemistries including BUN and creatinine

e) get chest Xray and if normal, reassure patient and referring physician

982-29.
A patient experiencing a progressive decrease in GFR comes to you with worsening pitting edema of his lower legs.  Which of the following interventions might BEST help this patient’s edema?

a) increased dietary sodium intake

b) 
begin diuretic drugs

c) institute strategies that increase renal proximal tubule sodium reabsorption

d) discontinue drugs that increase GFR

e) decrease dietary calcium intake

982-30.
A patient with obstruction of the urinary tract has had a dramatic worsening of his GFR.  
Which of the following BEST explains what has happened to him?

a) He had two normally functioning kidneys and now one kidney is obstructed.

b) 
He had one normally functioning kidney with one non-functioning kidney and the non-functioning kidney is obstructed.

c) He had one normally functioning kidney with one non-functioning kidney and the functioning kidney is obstructed.

d) He had two non-functioning kidneys and one kidney is obstructed.

e) He had two non-functioning kidneys, both of which are obstructed.

982-31.
You are asked to evaluate a patient who is producing massive amounts of urine following relief of chronic and complete obstruction of the both kidneys.  All of the following might explain the massive urine output in this setting EXCEPT:

a) decreased sodium reabsorption by renal tubules

b) 
high GFR caused by chronic obstruction

c) excretion of solutes and H2O accumulated during complete obstruction

d) poor renal tubule H2O absorption due to obstruction-induced unresponsiveness to antidiuretic hormone (ADH)

e) inappropriate administration of intravenous fluids

982-32.
A patient with severe renal failure can be conservatively managed until initiation of renal


 
replacement therapy with all the following EXCEPT:

a) diuretics

b) alkali

c) erythropoeitin 

d) 
high potassium diet

e) vitamin D

982-33.
Which of the following is the BEST intervention for a patient with symptomatic uremia?

a) Begin workup for renal transplant

b) Begin conservative management including dietary therapy and diuretics

c) 
Symptomatic treatment

d) Immediate dialysis

e) Close medical follow-up

982-34.
Which of the following is the MOST likely explanation hypophosphatemia (low serum phosphate concentration) in a patient referred to you for evaluation?


a) hypoparathyroidism (abnormally low secretion of parathyroid hormone)

b) factors that increase renal proximal tubule phosphate reabsorption

c) 
medications that form insoluble salts phosphate salts in the stomach

d) excessive vitamin D intake

e) high protein diet

35. 982-Oxygen is primarily transported:

aj) dissolved in plasma

ak) as bicarbonate

al) 
combined with hemoglobin

am) as carbamino hemoglobin

982-36
A patient is showing signs of tissue hypoxia has the following parameters: cardiac output 6 L/min, hemoglobin 7.8 gms/dl, barometric pressure 687 mmHg, and PaO2 84 mmHg.  Which action would best increase oxygen content?

a) give supplemental oxygen

b) 
transfuse packed red blood cells to increase her hemoglobin

c) give a medication to increase her cardiac output

d) place the patient in a hyperbaric chamber to allow more oxygen to dissolve in the plasma

982-37
Shifting the oxygen hemoglobin curve to the left is advantageous for an exercising muscle. 

a) True

b) 
False

982-38
Calculate the oxygen content (in ml O2/100 ml of blood) of a man given the following parameters: barometric pressure 760, hemoglobin 14, oxygen saturation 97%, PaO2 88 mmHg.

a) 13 

b) 15

c) 17

d) 
19

982-39
The pulmonary circulation , when compared to the peripheral circulation has:

a) 
low pressure, low resistance, dilated

b) low pressure, high resistance, dilated

c) high pressure, low resistance, constricted

d) high pressure, low resistance, dilated

982-40
Of the following etiologies of hypoxemia, which is the most common?

a) hypoventilation

b) shunt

c) 
ventilation/ perfusion mismatch

d) diffusion abnormalities

982-41.
The overall effect of ventilation/perfusion distribution can be judged by determining the:

a) PaO2
b) oxygen saturation

c) PAO2
d) 
alveolar - arterial oxygen gradient

42. 982-Carbon dioxide is carried in the blood primarily as:

aq) carbamino acids

ar) 
bicarbonate

as) dissolved carbon dioxide

at) hydrogen ion

982-43
Carbonic anhydrase, located primarily in the red blood cell, is beneficial in the transport of CO2 in that it facilitates:

a) 
the formation of carbonic acid

b) the dissociation of carbonic acid

c) chloride shift to maintain electrical neutrality

d) the formation of carbamino hemoglobin

982-44
The sigmoid shape of the oxygen hemoglobin dissociation curve facilitates:

a) oxygen loading in the periphery where the Po2 is low

b) carbon dioxide loading in the pulmonary circulation

c) oxygen unloading in the pulmonary circulation

d) 
oxygen unloading in the peripheral circulation where the Po2 is low

982-45
The pulmonary venous pressure will rise in a person that has had a massive heart attack and is in congestive heart failure.  When this occurs, the pulmonary vascular resistance:

a) 
decreases

b) increases

c) remains the same

982-46
Hypoxic vasoconstriction of pulmonary blood vessels occurs:

a) in response to a low Pco2 in the pulmonary arterial blood

b) 
in response to a reduced Po2 in the alveolar gas

c) via a reflex arc involving the spinal cord

982-47
The metabolic functions of the lung include:

a) 
converting angiotensin I to angiotensin II

b) liberating erythropoietin

c) activating bradykinin

d) inactivating angiotensin II


982-48
When the ventilation/perfusion ratio of a lung unit decreases,  the 

a) alveolar Po2 rises

b) PaO2 increases

c) alveolar Pco2 decreases

d) 
alveolar Po2 decreases

982-49
All of the following decrease the rate of gastric emptying EXCEPT:

a) increased solid components in stomach

b) 
increased pH of contents of small intestine

c) increased lipids in contents of small intestine

d) increased osmolality of contents of small intestine

e) vagus nerve section

982-50
All of the following statements about swallowing are true EXCEPT:

a) secondary peristalsis is initiated by stimulation of receptors in the esophagus

b) 
secondary peristalsis is involuntary

c) muscles of the pharynx are activated via the nucleus ambiguus

d) striated muscles of the esophagus are activated via the dorsal motor nuclues of X

e) smooth muscles of the esophagus are activated via the dorsal motor nucleus of X

982-51
All of the following statements about smooth muscle cells are correct EXCEPT:

a) gap junctions occur between membranes of apposing muscle cells

b) 
each muscle cell is separately innervated

c) calcium entry into the cell activates myosin light chain kinase

d) phasic contractions occur when phosphorylated myosin interacts with actin

e) activation of a phosphatase by a decrease in intracellular calcium induces relaxation.

982-52
All of the following statements about innervation of the GI tract are correct EXCEPT:

a) the parasympathetic nervous system is part of the extrinsic nervous system of the GI tract.

b) 
the sympathetic nervous system is part of the intrinsic nervous system of the GI tract.

c) parasympathetic postganglionic neurons are part of the enteric plexus

d) integration of function occurs in the enteric plexi because of the multisynaptic pathways present

e) afferent information is carried from the GI tract in the vagus nerve

982-53
All of the following statements about gastric molitity are correct EXCEPT:


a.
propulsive contractions begin in the proximal orad region of the stomach


b.
contractions increase in force and velocity as they progress caudad


c.
maximum rate is approximately 3 contractions per minute


d.
distally, the wave of contraction passes over the contents, propelling it proximally


e.
retropulsion produces mixing of the contents

54. 982-All of the following statements about gastric motility are correct EXCEPT:

bc) slow waves are rhythmical fluctuations in the membrane potentials of smooth muscle cells

bd) 
the upstroke and plateau of all slow waves are similar and always lead to contractions

be) spike potentials superimposed on the plateau lead to more forceful contractions

bf) vagal activity increases frequency and force of gastric contractions

bg) sympathetic activity is inhibitory to gastric contractions

982-55.
Which of the following sets of GI hormones are structurally homologous?

a) gastrin and glucagon

b) gastrin and secretin

c) gastrin and GIP

d) 
gastrin and CCK

e) gastrin and VIP

982-56.
All of the following statements about esophageal muscle are correct EXCEPT

a) the upper portion of the esophagus is striated muscle

b) the middle third of the esophagus contains both striated and smooth muscle

c) the lower third contains only smooth muscle

d) the upper esophageal sphincter is composed of striated muscle

e) 
the lower esophageal sphincter is comprised of striated muscle

982-57.
All of the following statements about paracrines and neurocrines are correct EXCEPT:

a) somatostatin inhibits acid secretion

b) histamine stimulates acid secretion

c) enkephalins increase smooth muscle tone

d) VIP relaxes smooth muscle tone

e) 
opioids increase peristaltic movement through GI tract

982-58.
Which of the following GI hormones is released primarily from the stomach

a) secretin

b) CCK

c) Motilin

d) 
Gastrin

e) GIP

6. 982-All of the following statements about the migrating motor complex are correct EXCEPT:

g) these are powerful contractions which begin in the orad part of the stomach

h) they serve to remove undigested material from the stomach

i) 
they occur every 20-30 minutes during the interdigestive phase

j) they are stimulated by motilin

k) the pyloris relaxes during these contractions

a) 982-60.
Which of the following inhibits the secretion of gastrin?
fat in the stomach

b) protein in the stomach

c) 
decreased pH in the stomach

d) carbohydrate in the stomach

e) distension of the stomach

61. 982-The ventilation/perfusion ratio is (higher, H, lower, L, or the same S) at the top of the lung which causes the alveolar Po2 to be (higher, H, lower, L, or the same, S) at the top of the lung.

bj) 
H, H

bk) H, L

bl) H, S

bm) L, S

bn) L, H

982-62
The intrapleural pressure is (more negative, M, less negative, L or the same, S) at the top of the lung compared to the base, which causes the transpulmonary pressure to be (more, M, less, L or the same, S) in alveoli at the top of the lung.

a) L, L

b) 
M, M

c) M, L

d) L, S

e) M, S

982-63
The intrapleural pressure is (more negative, M, less negative, L or the same, S) at the top of the lung compared to the base, which causes ventilation at the top of the lung to be (greater than, G, less than, L or the same as, S) ventilation at the bottom of the lung.  Assume breath begins from FRC, not RV.

a) M, G

b) 
M, L

c) L, G

d) L, S

e) M, S

982-64
The transpulmonary pressure is (more, M, less, L or the same, S) at the top of the lung, which causes the volume of alveoli at the top of the lung to be (more than, M, less than, L or the same as, S) alveoli at the base of the lung.

a) 
M, M

b) M, S

c) S, L

d) S, M

e) L, L

982-65
Two samples of blood are to be compared.  Sample A has 10 gms Hb/dl and sample B has 20 gms Hb/dl.  The Po2 is the same in both samples.  

a) The O2 content of sample A is higher than sample B

b) 
The O2 content of sample A is less than sample B

c) The O2 content is the same in both samples.  

982-66
At FRC, the elastic recoil of the lung is (__________________) the elastic recoil of the chest.

a) Greater than

b) Less than

c) 
Equal to 

982-67
A patient’s blood gas analysis reveals he has a low pH, a high Pco2, and a positive BE.  This patient has 

a) Uncompensated respiratory acidosis.

b) Uncompensated respiratory alkalosis.

c) Uncompensated metabolic acidosis.

d) 
Compensated respiratory acidosis.

e) Uncompensated metabolic alkalosis.

982-68
The buffer line on  the Davenport Diagram (Acid-base diagram) describes the change in


 bicarbonate concentration that occurs when CO2 is added to or removed from blood.

a) 
True

b) False

982-69
A patient with a plasma bicarbonate concentration of 36 mM/L could have either metabolic alkalosis or compensated respiratory acidosis. 

a) 
True

b) False

982-70
The Po2 in an alveolus with a ventilation/perfusion ratio = 0 would be closest to 

a) 0 mmHg

b) 
40 mmHg

c) 46 mmHg

d) 100 mmHg

e) 150 mmHg

982-71.
The Po2 in an alveolus with a ventilation/perfusion ratio = infinity would be closest to 

a) 0 mmHg

b) 40 mmHg

c) 46 mmHg

d) 100 mmHg

e) 
150 mmHg

982-72.  The Po2 in the anatomic dead space at the end of expiration would be closest to 

a) 0 mmHg

b) 40 mmHg

c) 46 mmHg

d) 
100 mmHg

e) 150 mmHg

73. 982-Assume that there are two equal volumes of blood that contain 20 gms Hb/dl.  One has a Po2 of 30 mmHg and one has a Po2 of 90 mmHg.  These two volumes are mixed anaerobically.  The Po2 of the resulting mixture will be (___________) 60 mmHg.

bv) 
Lower than

bw) Higher than 

bx) Equal to 

(next three questions)













.    .

982-73
A patient with asthma has a large number of low V/Q units.  You would expect the Po2 of these units to be 

a) High 

b) 
Low 

c) Normal

982-74.
 The PaO2 in the above patient would be 

a) High 

b) 
Low 

c) Normal

982-75
The A-a Po2 gradient in the above patient would be 

a) Increased 

b) Decreased 

c) Normal

982-76.
All of following are correct EXCEPT

a) 
An increase in PAO2 would increase DLO2 (diffusing capacity).

b) A decrease in A (surface area) would decrease DLO2.

c) An increase in T (diffusion distance) would decrease DLO2.
d) An increase in PAO2 would increase the rate of O2 diffusion.

e) A decrease in alveolar ventilation would decrease the rate of O2 diffusion. 

77. 982-A decreased DLO2 would  (___________) the rate of rise of Po2 in blood as it passes through the pulmonary capillary

bz) Increase

ca) 
Decrease

cb) Not alter

                                                  .

982-78
At a constant metabolic rate, an increase in VA (alveolar ventilation) would

a) Increase PAO2 and increase PACO2
b) 
Increase PAO2 and decrease PACO2 

c) Decrease PAO2 and increase PACO2
d) Decrease PAO2 and decrease PACO2
(next two questions)

982-79
Given the following values: barometric pressure = 700 mmHg; PaO2 = 80 mmHg; PACO2 = 24 mmHg; R = 0.8; what is the A-a Po2 gradient?

a) 0 mmHg

b) 5 mmHg

c) 18 mmHg

d) 
27 mmHg

e) 40 mmHg

982-80
The above individual most likely:

a) Is normal.

b) Is hypoventilating.

c) 
Has asthma.

d) Is breathing about the normal rate.

e) Has taken an overdose of a drug that depressed the respiratory control center.

982-81
As blood passes through the pulmonary capillary the bicarbonate concentration 

a) Increases

b) 
Decreases

c) Does not change

 (next six questions)

982-82
An asthma patient has the following values: body weight = 150 pounds, tidal volume (VT) = 600 ml,  respiratory rate = 20 breaths/min, arterial Pco2 (PaCO2) = 32 mmHg, mixed expired Pco2 (PECO2) = 16 mmHg.  The physiologic dead space in this patient is:

a) 0 ml

b) 150 ml

c) 250 ml

d) 
300 ml

e) 600 ml

982-83
The anatomic dead space in this patient is: 

a) 0 ml

b) 
150 ml

c) 250 ml

d) 300 ml

e) 600 ml

982-84 The alveolar dead space (ventilated but non-perfused alveoli) in this patent is:

a) 
0 ml

b) 150 ml

c) 250 ml

d) 300 ml

e) 600 ml

   .

982-85
The minute ventilation (VE) in this patient is:

a) 3000 ml/min

b) 4500 ml/min

c) 6000 ml/min

d) 9000 ml/min

e) 
12000 ml/min

982-86
The anatomic dead space ventilation (VD) in this patient is:

a) 
3000 ml/min

b) 4500 ml/min

c) 6000 ml/min

d) 9000 ml/min

e) 12000 ml/min






            .

982-87
The alveolar ventilation (VA) in this patient is:

a) 
3000 ml/min

b) 4500 ml/min

c) 6000 ml/min

d) 9000 ml/min

e) 12000 ml/min

982-88.
Which of the following is not characteristic of the renal regulation of acid-base homeostasis?

a) Urinary excretion of titratable acid

b) Urinary ammonium excretion

c) 
Urinary excretion of volatile acid

d) Bicarbonate reabsorption

e) Proton secretion 

982-89.
 Which of the following best pertains to metabolic alkalosis?

a) It is commonly caused by diarrhea

b) Diuretics are not an important cause

c) 
Vomiting is a major cause

d) It is a primary decline in the bicarbonate concentration

e) Kidney failure commonly causes it

982-90.
 Diuretics may cause all but which one of the following?

a) Hyperkalemia

b) Hypokalemia

c) Metabolic alkalosis

d) Metabolic acidosis

e) 
Hypertension

982-91.
  The extracellular pH may be defended by all but which one of the following?

a) Extracellular buffering

b) 
Vasopressin

c) Aldosterone

d) Red blood cell buffering

e) Urinary phosphate excretion

982-92. 
A three-month old baby is admitted to the hospital because of a two-day history of severe        

    
diarrhea.

a) He is volume expanded

b) Acid-base disturbances are unusual in such patients

c) His plasma bicarbonate concentration is almost certainly elevated

d) Diuretic therapy should be considered

e) 
He is apt to be hypokalemic

982-93.
Spironolactone may cause all but which one of the following?

a) Urinary salt loss

b) 
Increased urinary potassium loss

c) Metabolic acidosis

d) Increased blood levels of aldosterone

e) A lowering of blood pressure

982-94.  
Furosemide decreases urinary concentrating capacity while leaving dilution intact.

a) True

b) 
False

982-95. 
Urinary acid excretion increases when aldosterone blood levels fall.

a) true

b) 
False

982-96.
All but which one of the following tend to increase distal nephron acidification?

a) 
Hyerkalemia

b) Increased distal nephron sodium delivery

c) The lumen negative potential difference normally seen in the cortical collecting duct

d) 
Increased activity of the H-ATPase

e) Increased activity of the H-K-ATPase

982-97.  All but which one of the following may contribute to renal salt retention?

a) Inflammatory disease of the glomerulus

b) A decrease in plasma oncotic pressure

c) Arterio-venous shunting

d) 
Decreased aldosterone release

e) An increased filtration fraction

982-98.
 Which of the following is not characteristic of congestive heart failure?

a) 
Effective arterial blood volume is expanded

b) Extracellular fluid volume is expanded

c) Blood volume is expanded

d) Interstitial volume is expanded

e) Total body water is expanded

982-99.  
Which of the following is not typically associated with edema?

a) Cardiac dilatation

b) Low urinary sodium concentration

c) Neck vein distention

d) Low blood sodium concentration

e) 
High blood potassium concentration

982-100.  A contracted effective blood volume is associated with all but which one of the following?

a) High plasma renin activity

b) 
Hypouricemia

c) Renal salt retention

d) An increased BUN

e) increased vasopressin levels
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